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Question Number : 1 Question Id : 64635013142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Whaich of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options :

E45350516599. 1
64535051700, 2



E4535051701. 3
64535051702, 4

Question Number : 1 Question Id : 64635013142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FFrtatiad § | == =5 AT9HeRal = JTHTsE HEea & 7

(1) el TR = wiE (2) e g
(3)  TTSSTHT FHod I (4) T 1 ZHU F HE FEg FH AT
Options :

E45350516599. 1
64535051700, 2
64535051701, 3
64535051702, 4

Question Number : 2 Question Id : 64635013143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which 1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point

{2y Evaluation 1s used before programme design

(3) Evaluation relates to indicating learning outeome of teaching
(4) Evaluation is conducted during teaching

Options :

64835051703, 1
64535051704, 2
64535051705, 5
64535051706, 4

Question Number : 2 Question Id : 64635013143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E45250517032. 1

E4525051704. 2

64535051705 2

64635051706 4

Question Number : 3 Question Id : 64635013144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel i4) Edgar Dale



Options :

64535051707, 1
64835051708, 2
64535051709 2
64535051710, 4

Question Number : 3 Question Id : 64635013144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Farge AT | HE AT T W R S TR

(1) = (2) Tretfes
(3) ®Ea (4) TS Ed
Options :

E4535051707. 1
64535051708, 2
64535051709, 3
64535051710, 4

Question Number : 4 Question Id : 64635013145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options :

E4E535051711.1
E4E35051712. 2
64535051713, 3
64535051714, 4

Question Number : 4 Question Id : 64635013145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a7 AT FF TEe dre AHFTE 7 T F B9 H 9 Y, AT AN -
Ir T = 7, efataa 8 9 5 Seara 27

(1) g (2) UgEE
(3) JEH (4) A=A
Options :

64535051711, 1
64535051712 2
E4E35051713. 3
E4E35051714. 4

Question Number : 5 Question Id : 64635013146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving
(3 Identifying important sensory inputs (4) Believing what 1= true
Options :

645350517151
E4E35051716. 2
E4E35051717. 3
645350517158, 4

Question Number : 5 Question Id : 64635013146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fefatad § | F9 91 ATSHFd w6 T-HHTF e 27

(1} T (2) HOLH HHTEH
(3) TR Hedl AR HI TFEH FA (4) T ¥ FyaE w1
Options :

645350517151
64535051716, 2
64535051717, 3
E4E35051715. 4

Question Number : 6 Question Id : 64635013147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3} Phenomenalogical and narrative research

(4) Case study research

Options :

64835051719, 1
E4E35051720. 2
64535051721, 5
64535051722, 4

Question Number : 6 Question Id : 64635013147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
4635051719, 1
C4EZE0S1720. 2
E4EZE051721. 2
C4E3E051722. 4

Question Number : 7 Question Id : 64635013148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
{(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options :

64535051723, 1
64535051724, 2
64535051725 3
EAE3505172E6. 4

Question Number : 7 Question Id : 64635013148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fefatiEd § 5 +19 91 G 90==1 R+ WY =% F 951 FET 27

(1)  T=, Teai=ata, It 3 g (2) Ft=F, T, = d =
(3)  FFAFA, T, Foam 20 Tt (4) Twari=ta, Tr=F, F=== A=A

Options :

64635051723, 1
6435051724, 2
64535051725, 5
64535051726 4

Question Number : 8 Question Id : 64635013149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the main feature of qualitative research?

(1) Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options :
64535051727, 1
64535051728, 2



E4E35051729. 3
64535051730, 4

Question Number : 8 Question Id : 64635013149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
f=tRa | & 9 =1 e Y W S i 20
(1) T8 @i 91 T Byey F TER #= 2)
(2) v fa=mm= g o muty =7 w19 2
(3) HEATHF ETH fFs! F 9% 4 2
(4)  Waed fag=m i i &y 3w+ 2
Options :
4235051727, 1
646350517258, 2
64635051729 3
4535051720 4

Question Number : 9 Question Id : 64635013150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A good review of research literature aims at
(1) Subjective analysis of the content
(2) Provides information about the authors and their affiliations

(3) (GGenerates research questions and validating those questions
{4) Conducts multiple task based screening

Options :

648350517311
64535051732 2
64535051722,
64535051724, 4

Question Number : 9 Question Id : 64635013150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  fa9aata 1 =AFafase a9 =)
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Options :

6453505173101
64535051732 2
64535051722,
64535051734, 4

Question Number : 10 Question Id : 64635013151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis

(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis

(4) Improving the research hypothesis

Options :

64535051735, 1
64835051736 2
4535051737 2
64535051728, 4

Question Number : 10 Question Id : 64635013151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635051735, 1
64535051736, 2
64535051737, 5
64535051728, 4

Sub-Section Number: 2
Sub-Section Id: 646350619
Question Shuffling Allowed : Yes

Question Id : 64635013152 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ



Read the following passage and answer guestions:

There 1= a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the pecple on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635013153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is important for a modern economy?

(1) A common thread
i(2) Dissemination of credible data
(3) Unravelling of statistical syvstem
(4) Selective distribution of data
Options :
E452350517239. 1
64535051740 2
64635051741 =2
E4B35051742 4

Question Number : 12 Question Id : 64635013154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
[nvestment decisions are impacted by

(1) Youth population {2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options :

645350517421
64535051744, 2
E4E35051745. 3
E4E3505174E. 4

Question Number : 13 Question Id : 64635013155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) Questioning official narrative {4) Supporting the public perception
Options :

E4E35051747. 1



E4E35051748. 2
64535051745, 3
64535051750, 4

Question Number : 14 Question Id : 64635013156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How can the guality of national policies be improved?

] By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options :
E4525051751. 1
E4535051752. 2
64635051753 3
64635051754 4

Question Number : 15 Question Id : 64635013157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

(4} Support development In core sectors
Options :

E4525051755. 1

E4B25051756. 2

64535051757, 3

64635051758 4

Question Id : 64635013152 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Zuestion Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 64635013153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AHF FRTTmT + T #791 A 27
(1) % g fa=n
(2)  TavEEEm ATl = R =
(3)  HIET=RE WTHT 1 TP

(4)  FTHS! F TIATEE [T

Options :

64835051739, 1
E4E35051740, 2
64535051741, 5
64535051742 4

Question Number : 12 Question Id : 64635013154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)  FE1 e (2) WA Ty
(3)  Hiwsl =+ Hoaal + Hag, (4) TS AT I TRITE
Options :

64535051743, 1
64535051744, 2
64535051745, 3
E4E3505174E. 4

Question Number : 13 Question Id : 64635013155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E4E35051747. 1
E4E35051748. 2
64535051745, 3
64535051750, 4

Question Number : 14 Question Id : 64635013156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

645350517511
64535051752, 2
64535051752, 5
64535051754, 4

Question Number : 15 Question Id : 64635013157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YA RIS § AN WIS AT HAad: F GH Ted T 8 Y

(1y  =rfara Hoi o2 wiaey =

(2)  ATHS] = TeAdl H HigTEE =" =

(3) AT TrE-T Fosl F1 T F07|

(4)  HF &1 ° TawrE = queE F=)
Options :
45235051755 1
64635051756, 2
64635051757 2
64535051755, 4

Sub-Section Number: 3
Sub-Section Id: 646350620
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635013158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Assertion (A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3 {(A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options :
4532505175591

E4E35051760. 2
E4535051761. 3
B4E535051762. 4

Question Number : 16 Question Id : 64635013158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AuFeEA (A)- 9 TR F TeHeuTeRE T R 1 T = e Aget i 2
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(1) (A) s R) & w8 § 791 (R), (A) F 78 s 2

(2 (&) R)FA T 2, T (R). (A) F T wE =@ 2

(3) (A= 2, fe=g (R) e 2

(9 (A)Tem g, B (R) =@ 2

Options :

64835051759, 1
4535051760, 2
64535051761, o
64535051762, 4

Question Number : 17 Question Id : 64635013159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Some of the barriers to effective communieation are

(a) Polysemy

(b) Simple language

(c) Use of Cliche’s

(d) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (¢) and (d) (4) (a)and (¢)



Options :

64535051763, 1
64835051764, 2
64535051765 2
64535051766, 4

Question Number : 17 Question Id : 64635013159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tl Hiw < v = #)
(2) WG
(b) T 9w
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(d)  ATFAT R ATEE T

= fan o 2 F T S o =9 F:)

(1) (a) F () (2) (o) M (c)
(3) (o) F(d) (4) (a) #M (c)
Options :

64535051763, 1
64535051764, 2
E4E350517E65. 3
EAE35051766. 4

Question Number : 18 Question Id : 64635013160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options :
E4E25051767. 1
EAE25051768. 2
E4535051769. 2
64535051770 4

Question Number : 18 Question Id : 64635013160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) AT+ ATEF

(2)  ATTHETF T

(3) T+ A
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Options :

435051767, 1
64535051768, 2
64535051769, o
64535051770, 4

Question Number : 19 Question Id : 64635013161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options :

E4535051771.1
6435051772 2
64535051773, 3
64535051774, 4

Question Number : 19 Question Id : 64635013161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e | Tordlt fafimse wateran = fow T <t 72 farwgaeg =1 7o g

(1)  =AFad Ta=H (2) TargFaeg oiEmes
(3) T (4) HETA ST T
Options :

64535051771, 1
EAEZ5051772. 2
E4E35051773. 3
64535051774, 4

Question Number : 20 Question Id : 64635013162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

4) interest, knowledge, evaluation, awareness

Options :



E4E35051775. 1
64535051776, 2
64535051777, 3
64535051778, 4

Question Number : 20 Question Id : 64635013162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FHTE TUIT F Tl F1 T80 F0 7 -

(1)  H, ¥, Teae, FEw
(2) T, B, YEATEA, TH

(3)  ToATHA, AEE, T, 5

(4) w9, T, TEATEA, AR
Options :
64635051775 1
64535051776 2
E4B25051777. 3
EAE25051778. 4

Question Number : 21 Question Id : 64635013163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

] OEP (2) NEO
(3) MEN 4) PFQ
Options :

6453505177591
64535051780, 2
64535051781, 3
E4E35051782. 4

Question Number : 21 Question Id : 64635013163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FtatEd § 5 Jega = T
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN 4y PEQ
Options :

645350517791
64535051780, 2
64535051781, 3
EAE35051782. 4



Question Number : 22 Question Id : 64635013164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If the number 34axy is divisible by 90, then {x + ¥) =7

(1) g (2) 8
(3 T 4) 6
Options :

E4E35051783. 1
E4535051784. 2
64535051785, 3
64535051786, 4

Question Number : 22 Question Id : 64635013164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ife & 346y 90T =2 %, A (x+ y) =7

(1) 9 (2) 8§
3 7 4 6
Options :

E4E35051783. 1
E4535051784. 2
64535051785, 3
64535051786, 4

Question Number : 23 Question Id : 64635013165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
On a map, 1 inch represents 250 miles. What is the actual distance between two cities if thev

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options :

64535051787, 1
64535051788, 2
E4E35051789. 3
E4E35051730. 4

Question Number : 23 Question Id : 64635013165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 1100 Hr= (2) 1125™=
{3) 1150 HT= (4) 1200 9=
Options :

64535051787, 1
64535051788, 2
64535051789, 3
E4E35051730. 4

Question Number : 24 Question Id : 64635013166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 20%
Options :

645350517591, 1
64535051732, 2
64535051733, 3
E4E350517394. 4

Question Number : 24 Question Id : 64635013166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT (a—b) F 60%=40% = (a+b) 8, d a =1 b T Hid=d gm ?

(1) 20% (2) 25%
(3) 40% (4) 5H0%
Options :

645350517391, 1
64535051732, 2
E4E350517393. 3
E4E350517394. 4

Question Number : 25 Question Id : 64635013167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What will be the ratio of simple Interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2 2:3
(3) 4:3 (4) Data inadequate
Options :

64535051755, 1



E4E350517396. 2
64535051737, 3
64535051738, 4

Question Number : 25 Question Id : 64635013167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TRl 181 70 9 979 #1279 = ToT0 Wk THTE =471 &L ° ATeid Hrgmo s47=] I A7 F47 5 7

(1) 3:4 9y e
(3) 4:3 (4) ATHe I F|
Options :

64535051735, 1
64535051736, 2
E4E35051737. 3
E4E3505173958. 4

Question Number : 26 Question Id : 64635013168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options :

E4E35051795. 1
E4E35051800. 2
64535051801, =
6453505180Z2. 4

Question Number : 26 Question Id : 64635013168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Tt =TT g o1 T 1 FEEAT B

(1) Iy g (2) T ey

(3) fafime fagy (4) fafime g
Options :

E4535051799. 1
64535051800, 2
64535051801, 2
E453505180Z2. 4

Question Number : 27 Question Id : 64635013169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deduective
(3) Demonstrative (4) Analogical
Options :

E4E35051803. 1
E4E35051804. 2
64535051805, 3
64535051806, 4

Question Number : 27 Question Id : 64635013169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fetatiad o TFaal § agR 9199 A1 ke & 919 o 5949 50 ¢ 9% alled A-arddl o g 8

(1)  HATHATHF (2) e
(3)  TrEEAToTE (4) TTIEF
Options :

E4E35051803. 1
E4E35051804. 2
E4535051805. 3
64535051806, 4

Question Number : 28 Question Id : 64635013170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of . C iz between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
3 D 4 E
Options :

64535051807, 1
64535051808, 2
64535051809, 3
E4EZ5051810. 4

Question Number : 28 Question Id : 64635013170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FE WA B, C, D, E s F UF o 9 # %= %l AN @d gL AT E, D F 9rdi A7 C, A AN F
s=H 2 F, E AR AF A= H 31 C % 30l A F 77

(1) A (@) B
() D (4) E
Options :

64535051807, 1
E4E35051808. 2



E4E35051803. 3
64535051810, 4

Question

Number : 29 Question Id : 64635013171 Question Type : MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Inference (anumana) in Indian Logic is rooted in

(1)
(2)
(3)
(4)

Options :

variable relation between minor term and major term
mvariable relation between middle term and minor term
variable concomitance between middle term and major term

mvariable concemitance between middle term and major term

E4E35051811. 1
E4E35051812. 2
E4535051813. 3
64535051814, 4

: No Display Question Number : Yes

Question Number : 29 Question Id : 64635013171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT FhE § A0 1 0d 7 -

(1)
(2)
(3)
(4)

Options :

T 7%, AT OET 75 o &1 JiEdl 99y

qegTdl T HH TTe F =9 ATHEG 999
Tl T8, I =T T2, o &= T dgaiadl
Tl Te, A1 I T, o a0 A0 ggatad

E4535051811. 1
E4E535051812. 2
64535051813, 3
64535051814, 4

Question Number : 30 Question Id : 64635013172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A B C D, E and F are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layver 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How 15 A related to C?

(1) Grandfather {2) Mlother

(3) Sister (4) Grandmother

Options :
645350
645350
E4E350
E4E350

181501
13516 2
S1317. 2
51315 4



Question Number : 30 Question Id : 64635013172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TF TER H A, B, C, D, E 31T F 7: 7em7 # fod & 3 faaneq <ufq #) E = o= fog= 2, = famg
SO H MM CANFARA T BA TR F A AT N2 AT F @ AN T 2| &
Ry afaena § @ ©F vt 21 WiET § U R 3 o T SSEET 0 21 A% C @ F ey 37

(1) &g (2) HT
(3) =T (4) =d
Options :

E4E535051815. 1
E4535051816. 2
64535051817, 3
645350518158, 4

Sub-Section Number: 4
Sub-Section Id: 646350621
Question Shuffling Allowed : Yes

Question Id : 64635013173 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Juestion Label : Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the questions based on the data contained in the table :

Marks obtained by students

Marks Number of students in
in class interval Seetion — A Section — B

[0-—9] 2 4
[10 —19] 5] s
[20 — 29] 10 g
[30 — 39] 4 4
[40 — 49] 8 7
[0 - 59] 4 5
[60 — 69] T 5
[T0 - 79] 5] B

Sub questions

Question Number : 31 Question Id : 64635013174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options :

E4E5350518149. 1
E4E35051820. 2
64535051821, 3
64535051822, 4



Question Number : 32 Question Id : 64635013175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the pass mark is 40, approximately what is the percentage of successful students
Section — B?

(1) 45% 2y 51%
(3} 0% 4y 47%
Options :

E4E35051823. 1
E4E35051824. 2
64535051825, 3
64535051826, 4

Question Number : 33 Question Id : 64635013176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students in Section — A and Seetion — B together have obtained marks less
than 107

(1) 10 (2) 11
(3 12 4 6
Options :

64535051827, 1
64535051828, 2
64535051829, 3
E4E35051830. 4

Question Number : 34 Question Id : 64635013177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3 10 (4) 13
Options :

64535051831, 1
64535051832, 2
E4E35051833. 3
E4E35051824. 4

Question Number : 35 Question Id : 64635013178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options :

E4E35051835. 1



E4E35051836. 2
64535051837, 3
64535051838, 4

Question Id : 64635013173 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Juestion Label - Comprehension

feATeTTiara arfersrt =1 feramfelai =+ 9red (= % AN =rerd | o g9 A W B ¥ fa=n % faam =
230 3| Wedek HeeH A 1 B ° 59 45 Taamed #) et | T AreRel o Aum T 59 6 39 e

Taramera ==t Wre 3
Ty feEREl s EEE
TS Jem- A SEE-DB

[0 - 9] 2 4
[10 - 19] 5 5
[20-28] 10 9
[30 — 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 — 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635013174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TG, IATMF 30 7, 1 & HFTH § TS fer=nieral H1 F T e g7

(1) 43 (2y 35
(3) 16 4) 26
Options :

E4535051819. 1
64535051820, 2
64535051821, 3
64535051822, 4

Question Number : 32 Question Id : 64635013175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TTe, IHF 40 3 HFH B © IHI9 B TTed il s 9ias o TR 37

(1) 48% (2) 51%
(3) 0% 4y 47%
Options :

64535051823, 1
64535051824, 2
64535051825, 3
64535051826, 4



Question Number : 33 Question Id : 64635013176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HFH - A #0 HF9H - B 2 4 T fa=niiai 5 10 § 59 7+ 3ra 07

(1) 10 2y 11
(3} 12 4y 6
Options :

64535051827, 1
64535051828, 2
E4E35051829. 3
E4E35051820. 4

Question Number : 34 Question Id : 64635013177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HFFH - A H Tofee fernieii 3 30 1 Afg= o= ffg 50 9 0 9% Wd U 2 7

(1) 12 (2) 14
(3) 10 4y 13
Options :

E4E35051821. 1
E4E35051832. 2
64535051833, 3
64535051824, 4

Question Number : 35 Question Id : 64635013178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T - A 3 H5990 - B | o faenfeii 3 50 7 50 § it o W oot

(1) 23 (2) 43
(3) 32 4) 324
Options :

64535051835, 1
E4E35051836. 2
E4E35051837. 3
64535051838, 4

Sub-Section Number: 5
Sub-Section Id: 646350622
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635013179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee :
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options :

4535051839, 1
64535051840, 2
64535051841, =
64535051842 4

Question Number : 36 Question Id : 64635013179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U = 0o 99d 5099 To -, Ce : 31T Bee : Fivel § &YE %31 & 9949 O iaraiiad 5241 § ® HE-97 T3
27

(1) To:ﬁﬁﬁmBee:ﬁﬂ-e:fﬁﬁﬁﬁﬁﬁlﬁﬂﬁﬂﬁﬂﬁiﬁmgl
(2) Cc : %ies § Wreasdl To : 3 Bee : Fies! d T2 sHA 741 #1 <@ 954 &
(3) Bee : FieE § Wtashal To : &1 Ce : Fiesi § o=@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A% 30 T4l 1 4@ T5d 2

Options :

645350515839, 1
64535051840, 2
64835051841, =2
E4E35051542 4

Question Number : 37 Question Id : 64635013180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A group’s acecess to digital technology and another group’s lack of access to 1t, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options :

64535051843, 1
64535051844, 2
64535051845, 3
E4E3505184E. 4

Question Number : 37 Question Id : 64635013180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U HE F fefea stenfieh = Sresha o gt 9E i g AdTesdd | SN e e gl S
g1 = 2

(1) =& AT (2) =9 AEHTA
(3) =i aHaed (4) fefmea far=m
Options :

64535051843, 1
64535051844, 2
64535051845, 3
E4E3505184E. 4

Question Number : 38 Question Id : 64635013181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) 'What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options :

645350515847 1

646350518348 2

64835051349 =2

E4E825051850. 4

Question Number : 38 Question Id : 64635013181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T AT YReraet | Tl 76 WYSIWYG &1 35=f g 37

(1) =E 1A 3= 7/ L 7Me (2) =ELH F R LT
(3) T A mH LM (4) =L H WERZ L
Options :

E4E35051847. 1
64535051848, 2
64535051849, 3
64535051850, 4

Question Number : 39 Question Id : 64635013182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3 open-source software (4) shareware
Options :

E4E35051851. 1
E4535051852. 2



E4535051853. 3
54535051854, 4

Question Number : 39 Question Id : 64635013182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HiveaT, f A9 3o Sredie +1 Hd 3, o 949 90y = 190, 39 W S e o T
AT PTAH F1 TS 5, T9H F+54d 8

(1)  TEaF SHA FFeEIL (2) WEE
(3)  AH-HE TFET (4) FEET
Options :

64535051851, 1
64535051852, 2
E4E35051853. 3
EAE35051854. 4

Question Number : 40 Question Id : 64635013183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
(3) RAW (4) Hard Disk Drive
Options :

E4E35051855. 1
E4535051856. 2
64535051857, 3
64535051858, 4

Question Number : 40 Question Id : 64635013183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FeAfer T et Hael § # FH-91 95 61 a1 g H el ga 2t

(1) LT g (2) wifde T g
(3) W (IMumW) (4) = fomw g
Options :

E4535051855. 1
64535051856, 2
64535051857, 3
64535051858, 4

Question Number : 41 Question Id : 64635013184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options :

E4535051859. 1
64535051860, 2
64535051861, 3
64535051862, 4

Question Number : 41 Question Id : 64635013184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafl +20 FH@H 1 0F 50 T TR 90=a9 1 5 #6097 ¢

(1)  TmEE fFwm 99 (2) Hgaes T A
(3)  TSEF TRy T (4) T g T T
Options :

645350518549, 1
64535051860, 2
E4E35051861. 3
E4E35051862. 4

Question Number : 42 Question Id : 64635013185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 2005 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -201Z2
Options :

64535051862, 1
E4E35051864. 2
E4535051865. 3
E4535051866. 4

Question Number : 42 Question Id : 64635013185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EanEs e A& = FEA =3 i TaI-HE F7 7 ¢

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 {4y 2010 - 2020
Options :

B4535051863. 1
64535051864, 2
64535051865, 3
E4E3505186E. 4



Question Number : 43 Question Id : 64635013186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The duration for which of the usable compost generation 15 3—6 months?

(1) Vermi composting {2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options :

64535051867, 1
64535051868, 2
64535051869, 3
E4EZ5051870. 4

Question Number : 43 Question Id : 64635013186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FetatEa § 5 Torm Irammamg woe i & A=y 3-6 OT8 # 7 1

(1) = e (2) HAF-TTNAd 998 gUEaF
(3) e $onieen (4) TE=ErAd 98 GUiEd®
Options :

64535051867, 1
64535051868, 2
E4E35051869. 3
EAE35051870. 4

Question Number : 44 Question Id : 64635013187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3 Absence of nutrients (4) High level of organic matter
Options :

64535051871, 1
64535051872, 2
E4E35051873. 3
E4E35051874. 4

Question Number : 44 Question Id : 64635013187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)  T9= # I T (2) TEH F 7 TH
(3) U= W AYH (4) ST TR 1 I= TN
Options :

64535051871, 1
64535051872, 2
E4E35051873. 3



EAE35051874. 4

Question Number : 45 Question Id : 64635013188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options :

64535051875, 1
64535051876, 2
4835051877, 2
E4E3505157a. 4

Question Number : 45 Question Id : 64635013188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A | g * 9™ 9 Feg ° et AiiEeed 1w

(1) =2 B
(2) Fed g
(3) TfERTwE.m?

(4)  AIHE TOH F AFHE gE I g4 2
Options :
64635051875, 1
64635051876, 2
64635051877, 3
64635051878, 4

Question Number : 46 Question Id : 64635013189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The eonstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options :

64535051879, 1
64535051880, 2
E4E35051881. 2
E4E35051882. 4

Question Number : 46 Question Id : 64635013189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A 1 TEgE T AT0=TH 2 7 T8 =5 D 9= =g 1 o AT 5 3 A 8

(1) IT=E 30(1) (2) =% 29
(3)  rg=e 33 (4) =T 16(2)
Options :

E4E35051875. 1
64535051880, 2
64535051881, 2
64535051882, 4

Question Number : 47 Question Id : 64635013190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options :

E4525051885. 1

64535051884, 2

64535051885 2

64835051386, 4

Question Number : 47 Question Id : 64635013190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TS AR U (9 F I T
(1) T2 T8 ATF UFEH-HT BT I T ATEEd
(2)  TZE 980 ATF U A1 FIL 47 TETITET H1S-5H
(3)  TZErZ Toe ATH UFEH-FI- HIL T Uerl HT3-58
(4)  TZE ==H AR UFed -H- FiL I8 AT HIS-5H
Options :
648350518831
E4E35051554. 2

E4E35051885. 3
E4E35051886. 4

Question Number : 48 Question Id : 64635013191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
(3) Gvan Dhara i4) GIAN
Options :

E4E35051887. 1
64535051888, 2



E4E35051889. 3
64535051830, 4

Question Number : 48 Question Id : 64635013191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) ¥ 2N (2) == &
(3) FHEW (4) AT
Options :

64535051887, 1
64535051888, 2
E4E35051889. 3
E4E35051830. 4

Question Number : 49 Question Id : 64635013192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following reports addressed the academie, technical and administrative
problems of the examination syvstem?

(1) Report on standards of the Educational System (1963)
(2) Report of University Education Commission (19458-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options :

E4E8250515891. 1

E4B25051892. 2

E45350518593. =

645350518594 4

Question Number : 49 Question Id : 64635013192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  TOré 14 Tr2sd A% & THe 952 (1965)
(2)  TOOrE ATE IAETHE THTH FHEE (1948-49)
(3)  Hrae T (1944)

(4)  gFrem FEd T (1929)

Options :

64635051891, 1

64635051892, 2

E45350518393. 3
E4E350518594. 4

Question Number : 50 Question Id : 64635013193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

During which vear the present svstem of affiliation of colleges to the Universities was
intreduced in India?

(1) 1857 (2) 1948
{3) 1925 (4) 1966
Options :

E45350518595. 1
64535051836, 2
645350518387, 3
645350518358, 4

Question Number : 50 Question Id : 64635013193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I § gerrrErad i vt 8§ grEga S [ qom a1 gl

(1) 1857 (2) 1845
(3) 1928 (4) 1966
Options :

645350518595, 1
64535051836, 2
64535051837, 3
E4E350518395. 4
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